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΢Σ΄  ΛΟΓΗ΢ΣΗΚΖ  ΟΛΤΜΠΗΑΓΑ  2010 
Δ Π Η Π Δ Γ Ο  Η 

 
 
INSTRUCTIONS TO CANDIDATES 
ΟΓΖΓΗΔ΢ ΠΡΟ΢ ΣΟΤ΢ ΓΗΑΓΩΝΗΕΟΜΔΝΟΤ΢ 
 
For each question, choose and circle the best answer A, B, C, or D 
Γηα θάζε εξώηεζε, επηιέμηε θαη θπθιώζηε ηε θαιύηεξε απάληεζε Α, Β, Γ ή Γ. 
 
 
 
 
1.    Daily sales of €60 were posted from the day book to the debit of the sales 

account. As a result, the gross profit of the  business was: 
 
 A         overstated by €120 
 B   understated by €120 
 C    overstated by €60 
 D    understated by €60 
 
1. Οη ζπλνιηθέο πσιήζεηο κηαο εκέξαο ύςνπο €60, θαηαρσξήζεθαλ από 

ην εκεξήζην βηβιίν πσιήζεσλ ζηε ρξέσζε ηνπ ινγαξηαζκνύ 
πσιήζεσλ. Απηό είρε ζαλ απνηέιεζκα ην κηθηό θέξδνο  ηεο 
επηρείξεζεο λα: 

 
 Α ππεξηηκεζεί θαηά €120  
 Β ππνηηκεζεί θαηά €120 
 Γ ππεξηηκεζεί θαηά €60 
 Γ ππνηηκεζεί θαηά €60 
 
 
2. Net Assets/Net Worth of a business is: 
 
 A Fixed Assets + Working Capital – Long term liabilities 
 B  Capital + Working Capital – Long term liabilities 
 C Fixed Assets – Working Capital + Long term liabilities 
 D  Fixed assets + Working Capital + Long term liabilities 
 
2. Καζαξό Δλεξγεηηθό/ Καζαξή Οηθνλνκηθή αμία κηαο επηρείξεζεο είλαη: 
 
 Α Πάγην Δλεξγεηηθό + Κεθάιαην Κίλεζεο – Μαθξνπξόζεζκν Παζεηηθό  
 Β Κεθάιαην + Κεθάιαην Κίλεζεο – Μαθξνπξόζεζκν Παζεηηθό 
 Γ Πάγην Δλεξγεηηθό – Κεθάιαην Κίλεζεο + Μαθξνπξόζεζκν Παζεηηθό  
 Γ Πάγην Δλεξγεηηθό + Κεθάιαην Κίλεζεο + Μαθξνπξόζεζκν Παζεηηθό 
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3. On 1 July 2005 a firm purchased a new machine for €5 000. The 
estimated life is 10 years and the estimated scrap value €1 000.  Using 
the straight line method of depreciation and the indirect way of 
keeping the accounts, what will the net book value of the machinery be 
in the balance sheet as at 31 December 2009? 

 
A €3 200 
B €2 200 
C €4 000 
D €3 000 
 

3. Σελ 1 Ηνπιίνπ 2005 κηα επηρείξεζε αγόξαζε κηα θαηλνύξγηα κεραλή γηα  
€5 000. Ζ δσή ηεο ππνινγίζηεθε ζε 10 ρξόληα θαη ε ππνιεηπόκελε αμία 
ζε €1 000. Υξεζηκνπνηώληαο ηε ζηαζεξή κέζνδν απόζβεζεο θαη ηνλ 
έκκεζν ηξόπν ηήξεζεο ησλ ινγαξηαζκώλ, πνηα ζα είλαη ε θαζαξή αμία 
ηνπ κεραλήκαηνο ζηνλ ηζνινγηζκό ζηηο 31 Γεθεκβξίνπ 2009; 

 
A €3 200 
B €2 200 
Γ €4 000 
Γ €3 000 

 
4. Sales for the year are €250 000. Gross profit margin on sales is 20%.  

Opening stock is €20 000. Closing stock is €22 000. What are the 
purchases for the year? 

 
 A           € 50 000 
 B    €200 000 
 C  €202 000 
 D        €300 000 
 
4. Οη πσιήζεηο ηνπ έηνπο είλαη €250 000. Σν πεξηζώξην ηνπ κηθηνύ 

θέξδνπο επί ησλ πσιήζεσλ είλαη 20%. Σν αξρηθό απόζεκα 
εκπνξεπκάησλ είλαη €20 000. Σν ηειηθό απόζεκα είλαη €22 000.  Πόζεο 
είλαη νη αγνξέο ηνπ έηνπο; 

 
 A  € 50 000 
 B €200 000 
 C €202 000 
 D        €300 000 
 
5. Which of the following accounting documents is recorded to the 

returns inwards day book? 
 

Α Invoice issue for goods sold on credit to a customer 
B Cash sales invoice issued to a customer  
C Credit note for goods returned by a customer 
D Debit note for goods returned to a supplier 
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5. Πνην από ηα παξαθάησ ινγηζηηθά έγγξαθα θαηαρσξείηαη ζην βηβιίν  
επηζηξνθώλ πσιήζεσλ; 
 
Α Τηκνιόγην πνπ εθδόζεθε γηα πώιεζε εκπνξεπκάησλ κε πίζησζε ζε 

πειάηε 
Β Τηκνιόγην ηεο κεηξεηήο πνπ εθδόζεθε ζε πειάηε 
Γ Πηζησηηθή ζεκείσζε γηα εκπόξεπκα πνπ έρεη επηζηξαθεί από πειάηε 
Γ Χξεσζηηθή ζεκείσζε γηα εκπόξεπκα πνπ έρεη επηζηξαθεί ζε 

πξνκεζεπηή 
  

6. The total of the Discount Received column which appears in a Three   
Columns Cash Book (Payments side) is transfer to: 

 
 A  The Credit side of Discount Received account 
 B  The Debit side of Creditors account 
 C The Debit side of Discount received account 
 D The Credit side of Discount Allowed account 
 
6.  Σν άζξνηζκα ηεο ζηήιεο Δθπηώζεηο Λακβαλόκελεο πνπ βξίζθεηαη 

ζηελ πιεπξά ησλ πιεξσκώλ ηνπ Σξίζηεινπ Βηβιίνπ Σακείνπ 
κεηαθέξεηαη: 

 
 Α Σηε Πίζησζε ηνπ ινγαξηαζκνύ Δθπηώζεηο Λακβαλόκελεο 
 Β Σηε Χξέσζε ηνπ ινγαξηαζκνύ Πηζησηέο 
 Γ Σηε Χξέσζε ηνπ ινγαξηαζκνύ Δθπηώζεηο Λακβαλόκελεο 
 Γ Σηε Πίζησζε ηνπ ινγαξηαζκνύ Δθπηώζεηο Χνξεγνύκελεο 
 
  
7. The Petty Cashier starts with an Imprest amount of €100.  After the first 

week, he realises that this amount is too small and demands from the 
grant Cashier to increase the Imprest amount to €150.  His demand is 
accepted by the grant Cashier. The petty Cashier presents payment 
vouchers which amount to €88. The grant Cashier restored the Imprest 
amount to the new agreement. The amount of restoration was: 

 
 Α €100 
 Β €  88 
 C €150 
 D €138 
 
7. Σελ πξώηε εβδνκάδα ιεηηνπξγίαο ηνπ Μηθξνύ Σακείνπ πνπ μεθίλεζε 

κε ζηαζεξό Πνζό €100, ν κηθξόο Σακίαο δηαπίζησζε όηη ην πνζό απηό 
ήηαλ ιίγν θαη δήηεζε λα απμεζεί ζε €150. Σν αίηεκα ηνπ έγηλε δεθηό. Ο 
κηθξόο Σακίαο παξέδσζε ηηο απνδείμεηο πιεξσκώλ πνπ έθαλε αμίαο 
€88, ζην κεγάιν Σακία θαη ηνπ δήηεζε λα ην αλαλεώζεη ζύκθσλα κε ην 
λέν ζηαζεξό πνζό πνπ εγθξίζεθε. Πόζα ζα ηνπ δώζεη ν κεγάινο 
Σακίαο; 
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 Α €100 
 Β €  88 
 Γ €150 
 Γ €138 
 
8. The following was a list of Assets and Liabilities of a firm as at 31 

December 2009. 
 

 Freehold Premises  €80 000 
Creditors   €15 000 
Debtors   €25 000 
Bank Overdraft   € 8 000 
Stock    €10 000 
Cash in hand    € 2 000 
Equipment   €20 000 
 
The firm’s Capital as at 31st December 2009 was: 
A €114 000 
B  € 95 000 
C €140 000 
D        €104 000 
 

8. Πην θάησ παξαζέηνπκε ηα ζηνηρεία Δλεξγεηηθνύ θαη Παζεηηθνύ κηαο 
επηρείξεζεο ζηηο 31 Γεθεκβξίνπ 2009. 

 
Ιδηόθηεηεο θηηξηαθέο εγθαηαζηάζεηο €80 000 
Πηζησηέο     €15 000 
Χξεώζηεο     €25 000 
Παξαηξάβεγκα     € 8 000  
Δκπνξεύκαηα    €10 000 
Μεηξεηά ζην ηακείν     € 2 000 
Δμνπιηζκόο γξαθείνπ   €20 000 
 
Τν θεθάιαην ηεο επηρείξεζεο ηελ ίδηα εκέξα ήηαλ: 
 
A €114 000 
B  € 95 000 
C €140 000 
D       €104 000 
 

 
9. Calculate the balance of Debtors account, using the following data: 

 
 Working capital     €15 000 
 Fixed assets      €60 000 
 Capital      €75 000 
 Current liabilities     €25 000  
 Current assets (excluding Debtors balance) €35 000 
 
 The balance of Debtors account is: 
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 Α  €  5 000 
 Β          €75 000 
 Γ  €40 000 
 Γ  €10 000 
 
9. Να ππνινγίζεηε ην ππόινηπν ηνπ ινγαξηαζκνύ Υξεώζηεο 

ρξεζηκνπνηώληαο ηα πνην θάησ δεδνκέλα: 
 

 Κεθάιαην θίλεζεο     €15 000 
 Πάγην ελεξγεηηθό     €60 000 
 Κεθάιαην      €75 000 
 Βξαρππξόζεζκν παζεηηθό    €25 000 
 Κπθινθνξoύλ ελεξγεηηθό     
      (ρσξίο ην ππόινηπν ησλ ρξεσζηώλ)  €35 000 
 
 Τν ππόινηπν ηνπ ινγαξηαζκνύ Χξεώζηεο είλαη: 
 
 Α  € 5 000 
 Β         €75 000 
 Γ €40 000 
 Γ €10 000 
 
 
10. Which of the following is prepared at the end of accounting period, in 

order to determine the Net Profit or Net Loss of the firm? 
 
 A The Trading account 
 B The Balance sheet 
 C The Profit and Loss account 
 D  Trial balance 
 
10. Πνην από ηα πην θάησ εηνηκάδεηαη ζην ηέινο ηεο ινγηζηηθήο πεξηόδνπ 

γηα λα πξνζδηνξίζεη ην Καζαξό θέξδνο ή ηελ Καζαξή δεκηά ηεο 
επηρείξεζεο; 

 
 Α Ο Λνγαξηαζκόο εθκεηάιιεπζεο εκπνξεπκάησλ 
 Β Ο Ιζνινγηζκόο 
 Γ Ο Λνγαξηαζκόο απνηειεζκάησλ ρξήζεσο 
 Γ Τν Ιζνδύγην. 
 
11. The monthly rent payable by a business for the use of a showroom is 

€200. During the financial year the firm paid for rent €2 800.  Which of 
the following amounts represent the amount that should be transferred 
to profit and loss account? 

 
 A €2 800 
 B  €  400 
 C €2 400  
 D €2 600 
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11. Σν κεληαίν ελνίθην πνπ πιεξώλεη κηα επηρείξεζε γηα ηε ρξήζε ελόο 

θαηαζηήκαηνο είλαη €200. Καηά ηε δηάξθεηα ελόο ινγηζηηθνύ έηνπο ε 
επηρείξεζε πιήξσζε €2 800. Πνην από ηα παξαθάησ πνζά ζα 
κεηαθεξζεί ζην ινγαξηαζκό απνηειέζκαηα ρξήζεσο; 

 
 A €2 800 
 B   € 400 
 Γ €2 400  
 Γ €2 600 
 
 
12. In which order are current assets shown in the Balance sheet? 
 
 A Stock, debtors, bank, bills receivable, cash  
 B Stock, debtors, bills receivable, bank, cash 
 C Stock, bills receivable, debtors, cash bank 
 D Stock, debtors, bank, cash, bills receivable 
 
12. Με πνηα ζεηξά παξνπζηάδνληαη ηα θπθινθνξηαθά ελεξγεηηθά ζηνλ 

Ηζνινγηζκό; 
 
 Α Δκπνξεύκαηα, ρξεώζηεο, ηξάπεδα, γξακκάηηα εηζπξαθηέα, ηακείν 
 Β Δκπνξεύκαηα, ρξεώζηεο, γξακκάηηα εηζπξαθηέα, ηξάπεδα, ηακείν 
 Γ Δκπνξεύκαηα, γξακκάηηα εηζπξαθηέα, ρξεώζηεο, ηακείν, ηξάπεδα, 
 Γ Δκπνξεύκαηα, Χξεώζηεο,  ηξάπεδα, ηακείν, γξακκάηηα εηζπξαθηέα,  
 
 
13. You are given the following transaction: The proprietor has taken 

goods from the business for his private use. Which is the correct way 
to record the above transaction into the business΄s accounting 
records? 

 
                        Account to be debited               Account to be credited  

A  Capital    Purchases 
B  Drawings    Purchases 
C  Drawings    Bank 
D  Purchases    Cash    

   
13. ΢αο δίδεηαη ε πην θάησ ζπλαιιαγή: Ο επηρεηξεκαηίαο πήξε 

εκπνξεύκαηα από ηελ επηρείξεζε  γηα πξνζσπηθή ηνπ ρξήζε.  Ζ 
ζσζηή εγγξαθή γηα θαηαρώξεζε ηεο ζπλαιιαγήο απηήο ζηα βηβιία 
ηεο επηρείξεζεο είλαη: 

 
             Λνγαξηαζκόο πνπ ζα ρξεσζεί        Λνγαξηαζκόο πνπ ζα πηζησζεί 

 Α  Κεθάιαην    Αγνξέο 
 Β   Αηνκηθέο αλαιήςεηο   Αγνξέο 
 Γ       Αηνκηθέο αλαιήςεηο   Τξάπεδα 
 Γ  Αγνξέο    Τακείν 
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14. During the financial year ended 31 December 2009, the Net profit of the 

firm was €20 000 and the drawings of the proprietor were €6 000. If 
capital account balance as at 31 December 2009 was €80 000, what 
was the balance of the capital account as at 1 January, 2009? 

 
 A €  94 000 
 B €  98 000 
 C €  66 000 
 D €100 000 
 
14.  Καηά ηε δηάξθεηα ηνπ νηθνλνκηθνύ έηνπο πνπ έιεμε ηελ 31 Γεθεκβξίνπ 

2009, ην θαζαξό θέξδνο ηεο επηρείξεζεο ήηαλ €20 000 θαη νη αηνκηθέο 
αλαιήςεηο ηνπ επηρεηξεκαηία €6 000.  Αλ ην θεθάιαην θαηά ηελ 31 
Γεθεκβξίνπ 2009 ήηαλ €80 000, πνην ήηαλ ην ηειηθό θεθάιαην ηεο 
επηρείξεζεο ζηε 1 Ηαλνπαξίνπ, 2009; 

 
 A €  94 000 
 B €  98 000 
 Γ €  66 000 
 Γ €100 000 
 

 
15. When final accounts are prepared, the Bad Debts Recover account is 

closed by a transfer to the: 
 

A Debit side of Debtors account 
 B Credit side of Profit and Loss account 
 C Debit side of Profit and Loss account 
 D Credit side of Bad Debts account 
 

15. Όηαλ εηνηκάδνληαη νη ηειηθνί ινγαξηαζκνί, ν Λνγαξηαζκόο Δίζπξαμε 
Γηαγξαθεηζώλ απαηηήζεσλ ζα θιείζεη κεηαθεξόκελνο: 

 
 Α Σηε Χξέσζε ηνπ Λνγαξηαζκνύ ρξεσζηώλ  
 Β Σηε Πίζησζε ηνπ Λνγαξηαζκνύ Απνηειεζκάησλ ρξήζεσο 
 Γ Σηε Χξέσζε ηνπ Λνγαξηαζκνύ Απνηειεζκάησλ ρξήζεσο 
 Γ Σηε Πίζησζε ηνπ Λνγαξηαζκνύ Απώιεηεο Χξεσζηώλ 

 
16. A petty cash book is balanced at the end of each week and the cash 

float restored by the grant cashier every Monday morning.  At the start 
of particular week the cash float is €50. Petty cash vouchers for the 
week total €34.56. How much is the cash available at the end of the 
week? 

 
 A €50.00 
 B €15.44 
 C €34.56 
 D €84.56 
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16. Σν κηθξό ηακείν εμηζώλεηαη ζην ηέινο θάζε εβδνκάδαο θαη ην απόζεκα 

κεηξεηώλ απνθαζίζηαηαη από ην κεγάιν ηακία.  ΢ηε αξρή  
ζπγθεθξηκέλεο εβδνκάδαο ην απόζεκα κεηξεηώλ ήηαλ €50. Σα 
εληάικαηα πιεξσκήο κηθξνπνζώλ ηεο εβδνκάδαο αλέξρνληαη ζε 
€34.56. Πόζα είλαη ην απόζεκα κεηξεηώλ ζην ηέινο ηεο εβδνκάδαο; 

 
 A €50.00 
 B €15.44 
 Γ €34.56 
 Γ €84.56 
 
 
17.  Wages accrued are shown as: 
 
 A Current asset in the balance sheet 
 B Debit balance in wages account 
 C Credit balance in the profit and loss account 
 D Current liability in the balance sheet 
 
17. Σα νθεηιόκελα εκεξνκίζζηα εκθαλίδνληαη σο έλα: 
 
 Α Κπθινθνξηαθό ελεξγεηηθό ζηνηρείν  
 Β Χξεσζηηθό ππόινηπν ζην ινγαξηαζκό Ηκεξνκίζζηα 
 Γ Πηζησηηθό ππόινηπν ζην ινγαξηαζκό απνηειεζκάησλ ρξήζεσο 
 Γ Κπθινθνξνύλ παζεηηθό ζηνλ Ιζνινγηζκό 
 
 
 
 
18. Which one of the following transactions will not be recorded in the 

Journal? 
 
 A Credit purchase of a fixed asset 
 B Credit sale of goods to a customer 
 C Write off a bad debt 
 D The owner took goods for his own use 
 
18. Πνηα από ηηο παξαθάησ ζπλαιιαγέο δελ ζα θαηαρσξεζεί ζην 

εκεξνιόγην; 
 
 Α Αγνξά πάγηνπ ζηνηρείνπ κε πίζησζε 
 Β Πώιεζε εκπνξεπκάησλ ζε πειάηε κε πίζησζε 
 Γ Γηαγξαθή απώιεηεο ρξένπο 
 Γ Ο ηδηνθηήηεο πήξε εκπνξεύκαηα γηα πξνζσπηθή ηνπ ρξήζε  
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19. Which one of the following you would not take into account when 
calculating working capital. 

 
 A Machinery  
 B Cash 
 C Debtors 
 D Creditors 
   
19. Πνην από ηα παξαθάησ δελ ζα ζπκπεξηιάβεηο ζηνλ ππνινγηζκό ηνπ 

θεθαιαίνπ θίλεζεο. 
 
 Α Μεραλήκαηα 
 Β Μεηξεηά 
 Γ Χξεώζηεο 
 Γ Πηζησηέο 
 
 
20. Andria bought a dress costing €255, shoes costing €98 and a jacket 

costing €247. These are all subject to a trade discount of 10% and a 
cash discount of 5% if she pays within 30 days. How much will Andria 
pay for prompt settlement of her debt? 

 
 A €540    
 B €600 
 C €510 
 D €513 
 
20. Ζ Άληξηα αγόξαζε έλα θόξεκα πνπ θόζηηζε €255, παπνύηζηα πνπ 

θόζηηζαλ €98 θαη κηα δαθέηα πνπ θόζηηζε €247. Όια απηά είλαη 
αληηθείκελν εκπνξηθήο έθπησζεο 10% θαη ηακηαθήο έθπησζεο 5% εάλ 
απηή πιεξώζεη ζε 30 εκέξεο. Πόζα  ζα πιεξώζεη ε Άληξηα γηα έγθαηξε 
ηαθηνπνίεζε ηνπ ρξένπο ηεο; 

 
 Α €540 
 Β €600 
 Γ €510 
 Γ   €513     
 
 
21. At the end of the accounting period, the balance on the Provision for 

Depreciation account is 
 
 A transferred to the profit and loss account 
 B transferred to the depreciation account  
 C subtracted from the asset account 
 D subtracted from the cost of the asset in the Balance sheet 
 
 
 



 10 

21.  ΢ην ηέινο κηαο ινγηζηηθήο πεξηόδνπ, ην ππόινηπν ζην ινγαξηαζκό 
πξόβιεςεο γηα απόζβεζε 

 
 Α κεηαθέξεηαη ζην ινγαξηαζκό απνηειεζκάησλ 
 Β κεηαθέξεηαη ζην ινγαξηαζκό απόζβεζε 
 Γ αθαηξείηαη από ην ινγαξηαζκό ηνπ ελεξγεηηθνύ 
 Γ αθαηξείηαη από ην θόζηνο ηνπ ελεξγεηηθνύ ζηνλ ηζνινγηζκό  
 
 
22. Depreciation is: 
 

A a payment plan running over a period of time to provide cash to cover 
the loss in value of fixed assets 

   B the amount an asset can be sold or traded for at the end of its useful 
e    economic life 

C  a provision made in the financial records for the loss in value of fixed 
assets over a period of time 

D a cash expense that spreads out over the useful economic life of the 
fixed asset 

  
22. Απόζβεζε είλαη: 
 

Α έλα ζρέδην πιεξσκήο γηα κηα ρξνληθή πεξίνδν γηα λα έρνπκε 
δηαζέζηκα κεηξεηά νύησο ώζηε λα θαιπθζεί ε δεκία ζηε αμία ησλ 
ελεξγεηηθώλ ζηνηρείσλ  

Β ην πνζό πνπ κπνξεί λα πσιεζεί ή λα εκπνξεπηεί έλα ζηνηρείν 
ελεξγεηηθνύ ζην ηέινο ηεο ρξήζηκεο νηθνλνκηθήο ηνπ δσήο. 

Γ ε πξόβιεςε πνπ έγηλε ζηηο νηθνλνκηθέο εγγξαθέο γηα ηε δεκηά ζηε 
αμία ησλ ελεξγεηηθώλ ζηνηρείσλ θαηά ηε δηάξθεηα κηαο ρξνληθήο 
πεξηόδνπ. 

Γ έλα ηακεηαθό έμνδν πνπ δηαζθνξπίδεηαη θαηά ηελ δηάξθεηα ηεο 
ρξήζηκεο νηθνλνκηθήο δσήο ηνπ ελεξγεηηθνύ ζηνηρείνπ. 

   
 
23. Luxia pays rent of €2 000 on her dress shop each year. During the year 

ended 31 December 2009 she made the following payments:  €500 on 
31 March; €500 on 7 July and €500 on 28 October 2009. At 31 
December 2009 her balance sheet would show:  
 

 A a prepayment of €500 
 B an accrual of €500 
 C a prepayment of €1 500 
 D an accrual of €1 500  
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23.   Ζ Lyxia  πιεξώλεη γηα ελνίθην €2 000 ην έηνο γηα ην θαηάζηεκα 
ελδύζεσο. Καηά ηε δηάξθεηα ηνπ έηνπο πνπ ηειεηώλεη 31 Γεθεκβξίνπ 
2009 απηή είρε ηηο πην θάησ πιεξσκέο: €500  ηελ 31 Μαξηίνπ;  €500 
ηελ 7 Ηνπιίνπ θαη €500 ηελ 28 Οθησβξίνπ 2009. Σελ 31 Γεθεκβξίνπ 
2009 ν ηζνινγηζκόο ηεο ζα δείρλεη: 

 
 Α πξνπιεξσκή €500 
 Β νθεηιόκελα €500  
 Γ πξνπιεξσκή €1 500 
 Γ νθεηιόκελα €1 500   

 
 
24. Which of the following is not an item of revenue expenditure? 
 
 A Repairs to a machinery 
 B Depreciation of Equipment 
 C Purchase of a machinery 
 D Insurance premium  

 
24. Πνην από ηα αθόινπζα δελ είλαη ιεηηνπξγηθό έμνδν; 
 
 Α επηδηνξζώζεηο  ζηα κεραλήκαηα 
 Β απνζβέζεηο εμνπιηζκνύ  

Γ αγνξά κηαο κεραλήο 
Γ αζθάιηζηξα 

    
25. Accrued income would be shown on the balance sheet as: 
 
 A a current liability 
 B a current asset 
 C a fixed asset 
 D drawings 
 
25.  Οθεηιόκελα εηζνδήκαηα ζα εκθαληζζνύλ ζην ηζνινγηζκό σο: 
 
 Α θπθινθνξηθό παζεηηθό 
 Β θπθινθνξηθό ελεξγεηηθό 
 Γ πάγην ελεξγεηηθό 
 Γ πξνζσπηθέο αλαιήςεηο 
 
 
26. A bad debt previously written off is recovered in a later financial year.  

The double entry to reinstate the debt in the accounts would be: 
 
 A credit the profit and loss account and debit the debtor’s account  

B credit the bad debts recovered account and debit the debtor’s 
account 

 C debit the bad debts account and credit the debtor’s account 

 D credit the bad debts account and debit the debtor’s account 
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26. Μηα απώιεηα ρξένπο πνπ δηαγξάθεθε, εηζπξάρζεθε ζε κεηαγελέζηεξν 
νηθνλνκηθό έηνο.  Σν δηπινγξαθηθό ζύζηεκα γηα επαλαθνξά ηνπ 
ρξένπο ζηνπο ινγαξηαζκνύο ζα: 

 
Α πηζησζεί ζην ινγαξηαζκό απνηειεζκάησλ θαη ζα ρξεσζεί ζην 

ινγαξηαζκό ρξεώζηεο 

Β πηζησζεί ζην ινγαξηαζκό εηζπξάμεηο δηαγξαθεηζώλ απαηηήζεσλ  θαη 
ζα ρξεσζεί ζην ινγαξηαζκό ρξεώζηεο 

Γ ρξεσζεί ζην ινγαξηαζκό απώιεηεο από ρξεώζηεο θαη ζα πηζησζεί 
ζην ινγαξηαζκό ρξεώζηεο 

Γ πηζησζεί ν ινγαξηαζκόο απώιεηεο από ρξεώζηεο θαη ζα ρξεσζεί ν 
ινγαξηαζκόο ρξεώζηεο 

 

 

27. A debit entry in an account will: 
 
 A decrease an asset 
 B decrease an expense 
 C increase a liability 
 D decrease capital 
 
27.  Μία ρξεσζηηθή εγγξαθή ζε έλα ινγαξηαζκό ζα: 
 
 Α κεηώζεη έλα ελεξγεηηθό 
 Β κεηώζεη έλα έμνδν 
 Γ απμήζεη έλα παζεηηθό 
 Γ κεηώζεη θεθάιαην   
   
28. A business with financial year end 30 of June, buys a non-current 

asset on the 1 of January 2007 for €100 000. Depreciation is charged at 
20% per annum on the diminishing balance method. On 30 of June 
2009 the asset was sold for €45 000. What was the loss of the asset? 

 
A  €55 000 

 B   € 5 000 
 C  €12 600 

D   € 6 200 
 

28. Μία επηρείξεζε κε νηθνλνκηθό έηνο πνπ ιήγεη ζηηο 30 Ηνπλίνπ αγόξαζε 
έλα κε-θπθινθνξνύλ ελεξγεηηθό ηελ 1 Ηαλνπαξίνπ 2007 γηα €100 000. Ζ 
απόζβεζε ππνινγίδεηε ζε 20% ηνλ ρξόλν κε ηε θζίλνπζα κέζνδν.  
΢ηηο 30 Ηνπλίνπ 2009 ην ζηνηρείν ελεξγεηηθνύ πσιήζεθε γηα €45 000. 
Πόζε ήηαλ ε δεκία από ηε πώιεζε ηνπ ελεξγεηηθνύ; 

 
 Α  €55 000 
 B   € 5 000 
 C  €12 600 

D   € 6 200  
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29. Which of the following should be treated as capital expenditure in the 

accounts of a sole trader? 
 
 A €100 taken by the proprietor to buy himself a HI – FI system 
 B €500 on purchasing goods for resale 
 C €200 on purchasing a new computer for his secretary 
 D €150 paid to a painter for redecorating his office 
 
29. Πνην από ηα αθόινπζα ζεσξείηαη θεθαιαηνπρηθή δαπάλε ζηνπο 

ινγαξηαζκνύο ελόο επηρεηξεκαηία;  
 

Α €100 πνπ έρεη πάξεη ν ηδηνθηήηεο γηα πξνζσπηθή αγνξά ελόο 
ζπζηήκαηνο HI – FI 

B €500  πνπ μνδεύηεθαλ γηα αγνξά εκπνξεπκάησλ γηα κεηαπώιεζε 
Γ €200 πνπ μνδεύηεθαλ  γηα αγνξά ελόο λένπ ππνινγηζηή γηα ηε 

γξακκαηέα ηνπ 
Γ €150 πνπ πιεξώζεθαλ ζε έλα κπνγηαηδή γηα αλαθαίληζε ηνπ 

γξαθείνπ ηνπ 
 
 

30. Which one of the following pairs of ledger accounts is Real account?  
 
 A Buildings and rent payable 
 B cash in hand and cash at bank 
 C capital and debtors 
 D advertising and interest received 
 
30. Πνηό από ηα αθόινπζα δεύγε ινγαξηαζκώλ είλαη πξαγκαηηθνί 

ινγαξηαζκνί; 
 Α θηίξηα θαη ελνίθηα πιεξσηέα 
 Β κεηξεηά θαη ηξάπεδα 
 Γ θεθάιαην θαη ρξεώζηεο 
 Γ δηαθεκίζεηο θαη έζνδα από ηνπο ηόθνπο 
 
 
   

Σ  Δ  Λ  Ο  ΢ 
 
 

 
☺   ☺  ☺ G   O   O   D    -    L   U   C  K        ☺   ☺    ☺ 

 
Κ  Α  Λ  Ζ    -   Δ  Π  Η  Σ  Τ  Υ  Η  Α 


